

$$(1) \sum_{n=0}^{\infty} \underbrace{\frac{(1 + \frac{2}{n})^{n^2}}{1+3^n}}_{a_n \geq 0}$$

Cauchy  $\lim_{n \rightarrow \infty} \sqrt[n]{\frac{(1 + \frac{2}{n})^{n^2}}{1+3^n}} = \lim_{n \rightarrow \infty} \frac{(1 + \frac{2}{n})^n}{\sqrt[n]{1+3^n}} = \frac{e^2}{3} > 1$ , tedy  $\sum a_n$  D

$3 = \sqrt[n]{3^n} \leq \sqrt[n]{1+3^n} \leq \sqrt[n]{2 \cdot 3^n} = \sqrt[n]{2} \cdot 3 \rightarrow 1 \cdot 3$  2 poličasti

$x_n = n, n \rightarrow \infty, n \neq 0$  (nech)

$\lim_{x \rightarrow \infty} (1 + \frac{2}{x})^x = \lim_{x \rightarrow \infty} e^{x \log(1 + \frac{2}{x})} = e^2$  VOLSE (S)  $e^y$  spř.  $n=2$

$\lim_{x \rightarrow \infty} \frac{\log(1 + \frac{2}{x})}{\frac{1}{x} \cdot 2} \stackrel{4L}{=} 1 \cdot 2$

VOLSE (P)  $\frac{2}{x} \neq 0$  ma  $(\frac{1}{x})^{1/2}$

$$(2) \sum_{n=1}^{\infty} \underbrace{\frac{n+1}{n^2+3}}_{b_n} \underbrace{\cos(n\sqrt{n})}_{a_n}$$

$\sum a_n$  ma' om. č. směřy

$\lim_{n \rightarrow \infty} \frac{n+1}{n^2+3} = \lim_{n \rightarrow \infty} \frac{n}{n^2} \cdot \frac{1 + \frac{1}{n}}{1 + \frac{3}{n^2}} \stackrel{4L}{=} 0 \cdot \frac{1+0}{1+0} = 0$

$f(x) = \frac{x+1}{x^2+3}, x \in \mathbb{R}$   $f' = \frac{x^2+3 - (x+1)2x}{(x^2+3)^2} = \frac{-x^2 - 2x + 3}{(x^2+3)^2} = \frac{-(x+3)(x-1)}{(x^2+3)^2}$

$f' < 0$  pro  $x > 1$ .

tedy  $f$  je klesající na  $(1, \infty)$

tedy  $b_n$  je klesající od  $n=2$

z Dirichleta  $\sum b_n a_n$  konverguje

$$(3) \int e^{2x} \sin(e^x) dx \stackrel{C}{=} -e^x \cos e^x + \sin e^x, \quad x \in (-\infty, \infty)$$

$$y = e^x \\ dy = e^x dx$$

$$\int y \sin y dy = -y \cos y + \int \cos y dy$$

$$u = y \quad v' = \sin y \quad \stackrel{C}{=} -y \cos y + \sin y \\ u' = 1 \quad v = -\cos y$$

$$f(x) = e^x$$

$$f'(x) = e^x$$

$$f(y) = y \sin y$$

$$x \in (a, b) = (-\infty, \infty)$$

$$y \in (a, b) = (-\infty, \infty)$$

$$\varphi(a, b) = (0, \infty) \subseteq (a, b) \checkmark$$

$$(4) (a) \quad \sum a_{2n} \downarrow, \sum a_{2n+1} \downarrow \Rightarrow \sum a_n \downarrow$$

Plati. Uvažujme pol. čast. součtu.

$$t_{2N} = \sum_{n=1}^N a_{2n} \quad u_{2N+1} = \sum_{n=0}^N a_{2n+1}$$

$$\text{Kvůli} \quad \lim_{N \rightarrow \infty} t_{2N} = T \in \mathbb{R}, \quad \lim_{N \rightarrow \infty} u_{2N+1} = U \in \mathbb{R}$$

Paž pol. č. součtu

$$s_M = \sum_{n=1}^M a_n$$

že psát jako

$$s_M = u_{2N-1} + t_{2N} \rightarrow U + T \in \mathbb{R}$$

pro  $M=2N$   
sude

pro  $M=2N+1$   
liché

$$s_M = u_{2N+1} + t_{2N} \rightarrow U + T \in \mathbb{R}$$

$$\Rightarrow \lim_{M \rightarrow \infty} s_M = U + T \in \mathbb{R} \quad \text{a} \quad \sum a_n \downarrow$$

$$(b) \quad \sum a_n \downarrow \Rightarrow \sum a_{2n} \downarrow \text{ a } \sum a_{2n+1} \downarrow$$

Neplatí. Protipříklad

$$\sum \frac{(-1)^n}{2^n} \downarrow, \text{ ale}$$

$$\sum \frac{(-1)^{2n}}{2^{2n}} = \sum \frac{1}{2^{2n}} \uparrow \quad D$$

$$\text{a} \quad \sum \frac{(-1)^{2n+1}}{2^{2n+1}} = \sum \frac{-1}{2^{2n+1}} \downarrow \quad D.$$